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This graph shows the difference in the earth’s
Global Tem perq’[ures temperature from 1880 to 2010 and the amount of carbon
dioxide (CO,) measured in the atmosphere.

CO, Concentration and Surface Temperature
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Source: NASA-GISS, CDIAC, NOAA ESRL
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Drought in Ethiopia, Africa
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Sea levels rising cause increased flooding in Bangladesh
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A mosquito




o
=
=
@
S
@
B
S
=
(&)
p -
<<

wodyd1}4 ‘Asnins J:Smoea 'SNG |




Deforestation

= e

£
o
e
Y
=y
4GS
L)
o
£
o
EC
»
=
Q2
+ 93
>
©)
=R




%
c
Q
=
o
S
7
j —
(O]
=
o
a

1051511 1dINepE




wao Il ‘zan31poy [aNSIA (O

T
—
o)
o
(%)
C
o

T

AR
#_” Ix
.u.b_ua_.m.. .p Sumew@




Landfill
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Agriculture
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ESCAPING RADIATION The Greenhouse Effect
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The number of earths needed to sustain the world if
everyone lived the way we do in the UK: two and a half
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The amount of earth we would need to sustain the world if
everyone lived the way they do in Bangladesh: one third
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Greenhouse Gases: The size of the country represents
the amount of greenhouse gases produced per person

Greenhouse gases trap heat in the earth’s
atmosphere, causing it to warm up. The countries that
put out the most greenhouse gases are the United
States, China, the Russian Federation and Japan.
However, the most emissions per person are in Qatar.
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